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Given the normal probability density function: f(x)= ! e 2’ o is constant.
oN2r

Please show that (1) f'>0 for x<O0and f'<0 for x>0 [10 points]  (2) the points

of inflection [10 points]  (3) what are the maximum value of the function. [10

points]

Please find an equation of the tangent line of y =log, x at the point (27, 3). [10
points]

Please use eighth-degree Taylor polynomial for e to approximate the definite

integral .[:e‘xz dx. [10 points]

|, if |x| =1
Suppose f(x)= f(x)= { b i}:x: Y

Please find the value of (a, b) = . [10 points]

and f(x) is differentiable on (-0, o).
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Find the integral value of: (1) | L x=2 @ J; Zlnxdx =2 [10 points]
+ 4

e*+5

What is the maximum value [f>(x)| for the function f(x) = x*(10—2x?) on the closed
interval [0, 2]? [10 points]

If f(x) is the inverse function of g(x) =2x°+x+3, please find the value of f’(6)=?
[10 points]

Iff ) =x find £°(5)=2  [10 points]



